5E] O —RElE

£5HE £5+VI0 25+8 £5+VIO+EE VIOHE EARlRE b & 3EB4L

25k DEZRE 223,554 273,770 260,084 331,699 79,834 84,788 43,374
LY=o )=y 215,250 294,260 309,230 378,000 94,500 110,250 39,800
TAarIV=Zvy 170,000 210,000 210,000 270,000 90,000 90,000 39,000
BAO CLINIC 275,000 88,000 88,000
A=/ 187,000 138,000 138,000 193,000 88,000 88,000 43,120
2FxvoU=yv oY a(HBAISZ U=y D) 286,500 286,000 295,900 326,700
ATFLALIEL—Y 3y o)y s 162,800 244,200 244,200 301,400 84,000
KESIVZv Y 263,780 329,560 329,560 362,780 65,780 65,780 29,700
L b2y 207,900 300,300 405,900 92,400 132,000
E21EesV=v s -
V7BE7V=v7y 217,800 297,000 297,000 374000 79,200 79,200
YIOSTRIY vy 198,000 224,400 298,000
YavsUzZyy 327,800 404,800 404,800 481,800 77,000 77,000
2E U=y 320833 412,500
ONE CLINIC #8H 155,000 215,000 215,000 275,000 60,000 60,000
77a1—B&HIZUZv o 440,000 506,000 572,000 88,000 61,600
774 VEEBERES Y=V D 125,000 130,000 130,000 180,000 80,000 80,000 35,000
EEENGEHRE [ Wi>27 U=y 217,800 242,000 242,000 275,000 77,000 77,000
HBIEITV=vy -
EBEAR LSo7 Y=y KikeH 154,500 193,000 41,000 57,200 33,000
MIYAZ 2 A X7V =vw 7 -
THA V2T -0 VU=v s -
AhAEBRRBER 132,000 220,000 202,400 268,400
HREOLTA—=RTT U=y -
UuBzJy=vv -
7zi—7Vz=v 7 242,000 338,800 363000 459800 96,800 121,000




#MEILWIERE

2HRE £5+VIO 25+8E £5+VIO+ER VIOt E EEtE

25k DEZRE 69,805 110,093 102,398 111,701 20,678 20,038
LY=o )=y 86,100 117,710 123,690 151,200(-
TAarIV=Zvy - - 40,000 40,000
BAO CLINIC 45,000 50,000 50,000 37,960 15,000 15,000
A=/ 33,000 - 16,500 16,500
2FxvoU=yv oY a(HBAISZ U=y D) - - -
AT4ALIEL—Yaryo)zyd - - -
KERIVZvY - - -
Lo Xo2UZwy 103,950 150,150 202,950]-
oV =v s - - -
V7BEIV=v Y -
YOI TRAIY =y Y 55,000 - 26,400
vavsU=Zvy 163,900 183,700 183,700 203,500]-
SEIVZv Y 88,000 121,000 33,000 33,000
ONE CLINIC #&H 84,000 104,000 104,000 128,000 15,000 15,000
T77a1—B&HITUZv 7/ - - -
T4 VEEREI Y=y Y - - -
EFEENERS [ WO Ty s - - -
HEIFIV =y - - -
AR LS U=y o KEkiEH 30,900 38,600 8,200 14,300
MIYAZ x4 RV w7y - - -
THA Y E2a—FTa—oU=v 7y - - 22,000 16,500
AhAEBRBER 33,000 55,000 50,600 67,100]-
HOOLTA—RT T )=y - - -
UBsz u=vo 45,000 55,000 10,000 10,000
7xzi—7VzZv7 - - -




